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1) TRADE THEORY
Question No. 1/ Question ID 340 Marks: 2.00

What is the function of leak transformer in high pressure sodium vapour lamp circuit?
I o AIfeTH Oy oY gRuy # ¢l SRIwIAR &1 71 B 82
(A) O Reduce the starting current
WIS YRT B g
(B) O Ignite the high voltage initially (Correct Alternative) (Chosen Option)
URY § 3= diecsl B oA (Correct Alternative) (Chosen Option)
(C) O Increase the working current
(D) O Increase the working voltage
diced I qGHT

Question No. 2 / Question ID 217 Marks: 2.00
Which is used as a positive electrode in a dry cell?
[ Jd H YTHS Jaaeis &b U H 1 TR gl 82
(A) O Lithium (Chosen Option)
(Chosen Option)  www.globaliti.org

(B) © Copper

GIEL
(C) O Carbon (Correct Alternative)

(Correct Alternative)

(D) O Zinc

ST

Question No. 3 / Question ID 303 Marks: 2.00
Which instrument is used to test the insulation of new domestic wiring installation?
T O IR SRTARM & AR BT TRIEU R & g o SUSHR0T T IUART faat Tt g2
(A) O Megger (Correct Alternative) (Chosen Option)
R (Correct Alternative) (Chosen Option)
(B) O Multimeter
HedHIR
(C) O Shunt type ohmmeter
T TR 3g Hicx
(D) O Series type ohmmeter
9oft YR 3fg Hier

Question No. 4 / Question ID 156 Marks: 2.00
What is the purpose of the phase sequence meter?
Tl SFIHH IR T I T &7
(A) O To control the speed of 3 phase motor

3 Tool HIeR B! TIfd I FHEifd B3 & forg




(B) O To indicate the phase sequence of 3 phase system (Correct Alternative)
3 Tl WUTTEN & TRT 3hH I ST B & AT (Correct Alternative)

(C) O To protect the motor against short circuit fault (Chosen Option)
e &1 U1 e Ay I IaH & faw (Chosen Option)

(D) O To measure the voltage of 3 phase system

3 ol JUMTG! & dices] &l AT o [old

Question No. 5/ Question ID 50 Marks: 2.00
Which formula is used to calculate the power of a DC circuit?

DC Wfdhe &1 Jfad Bt TUFT - & e e G &1 ST foan S g2

(A) O Voltage x time
Voltage x time

(B) O Current x voltage (Correct Alternative) (Chosen Option)
Current x voltage (Correct Alternative) (Chosen Option)

(C) O Voltage x resistance
Voltage x resistance

(D) © Current x resistance
Current X resistance

Question No. 6 / Question ID 374 Marks: 2.00
WhICh type of energy meter works with neutral connection?
ISR TOIoH e THR & SHoll Hiex & 1Y HTH HRT 82
(A) O Three phase two element with CT & PT
et SR T & 91 i Her &f 3agd

(B) O Single phase single element (Correct Alternative)
Ued TR TPd Aq4d (Corggiiprgtobaliti.org
(C) O Three phase three element
¥ et oA sragq
(D) O Three phase two element (Chosen Option)
I e &l 3faud (Chosen Option)

Question No. 7 / Question ID 385 Marks: 2.00
What is the purpose of U bend marked as ‘X’ in geyser as shown in the figure?

fom o feame SR ioR # X' ¥ fafed g o' &1 I5zg 71 87




org

(A) O Prevents draining of water (Correct Alternative) (Chosen Option)

Tt $ A & Jwar % (Correct Alternative) (Chosen Option)

(B) O Restricts the air locking inside the tank
C® & e gaT & AlD DI Ylcailed Bl o
(C) O Reduces the pressure of outlet pipe
fiid Uy & ard B FH FAT
(D) O Avoids the forming of scales
A & g9 § 1 ST 8

Question No. 8 / Question ID 214
What is the total voltage of the circuit as shown in the figure?
for 7 faTu SIIUR Tfdhe &1 $d diees 1 82

Marks: 2.00




(W) O 9.0 volt www.globaliti.org

(B) O 6.0 Volt
6.0 Volt

(C) O 1.5 Volt (Correct Alternative)
1.5 Volt (Correct Alternative)

(D) O 7.5 Volt (Chosen Option)
7.5 Volt (Chosen Option)

Question No. 9 / Question ID 76 Marks: 2.00
What is the formula for the equivalent resistance (Ry) of the three resistors R4, Ry & R3 are connected in
parallel?

JAHIR B IS T UfRIUD! Ry, R, 3R Ry & THJ URIY (Ry) 1 T 782

(A) O T 1 1

R AR -

T R1 R, R3 (Correct Alternative)

e E 1 _

T R, Ry A, (Correct Alternative)
(B) O = 1

T

Ri-Fo-Fy




C s i
©)O = 1 _T1_T (Chosen Option)

= n [
Fid FLEE | &

®=T_T_T (Chosen Option)

o o b
£ FLERI

(D) O Rr=Ry{+Ry+Rj
RT=R1+R2+R3

Question No. 10 / Question ID 117 Marks: 2.00
Calculate the total capacitance value in the circuit.

gihe # pd HURICH HH &I TUFT B

(A) O 6 uF (Correct Alternative) (Chosen Option)
6 uF (Correct Alternative) (Chosen Option)

(B) O 70pF
70 uF

(C)O 0.16 yF
0.16 uF

(D) O 30 uF
30 puF

Question No. 11 / Question ID 68 Marks: 2.00
What is the value of current (1) flowing through the circuit?

ofkgy & garfed URT (1) T {1 1 82




(A) O 3A iti
O 3A www.globaliti.org

(B) O 2 A (Correct Alternative) (Chosen Option)
2 A (Correct Alternative) (Chosen Option)
(C)O 1A
1A
(D)O 6A
6A

Question No. 12 / Question ID 95 Marks: 2.00
What is the effect of inductance if the distance between the turns increases?

g grTal & o Pt g3 96 ST § Al IRbed HI T THIE BT
(A) O Becomes zero
LI

(B) O Increases

(C) O Remains same
BEIERE

(D) O Decreases (Correct Alternative) (Chosen Option)
arcr) 1} (Correct Alternative) (Chosen Option)

Question No. 13 / Question ID 115 Marks: 2.00
What is the change in value of resistance of the conductor, if its cross section area is doubled?
e fodt aTeeh BT TR BIC AAHA GRIAT B a1 o al 3P WoRIY o A H T YR gi?
(A) O No change

aRad et




(B) O Decreases 2 times (Correct Alternative)
2 (AT Y9cdr % (Correct Alternative)

(C) O Increases 2 times
2 7T 9GdT §

(D) O Decreases 4 times (Chosen Option)
4 AT Ycdl % (Chosen Option)

Question No. 14 / Question ID 353 Marks: 2.00
What is the reason for the moving coil meter having uniform scale?
Id peait Hiex & Te THH G0 W G BT T HRUT g7
(A) O Deflecting torque is directly proportional to the square of the current (Chosen Option)
fraer sargul 4T % 7 % FAFUNT § (Chosen Option)
(B) O Deflecting torque is inversely proportional to the square of the current
faerer srargof ¢RT & avf & gepHTud! 8
(C) O Deflecting torque is inversely proportional to the current
YRT &
(D) O Deflecting torque is directly proportional to the current (Correct Alternative)
RT & STUTfA® & (Correct Alternative)

Question No. 15/ Question ID 259 Marks: 2.00
Which type of lamp holder is used for the incandescent lamps of above 300 watts?

300 91 ¥ SHWR & U oY & T foog TR & U gicgR 1 IuanT foan i 872
(A) O Porcelain angle holder

ife WTel glesX
(B) O Edison screw type holder (Chaosen Opiti agn
TS P T-Y B ( Chose% W%\E,&TOballtl.Org
(C) O Porcelain batten holder
TiRkfeA

e gl

(D) O Goliath edison screw type holder (Correct Alternative)
Y Q‘%'\‘F-T p CIgU glese (Correct Alternative)

Question No. 16 / Question ID 361 Marks: 2.00
Which is an absolute instrument?
TS FRUE JUHRO B AT 82
(A) O Tangent galvanometer (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(B) O Energy meter
ot AT

(C) O Volt meter

(D) O Ammeter

Question No. 17 / Question ID 164 Marks: 2.00
Which conductors are used for the over head distribution lines?
3R 7S faarur @l & fore o T drsdex &1 IuTNT fosan SITaT 872
A) O Insulated conductors
5{101CS hedcy




(B) O Two core cable
& DR had
(C) O Insulated solid conductors
: Tifers dhsaey
(D) O Bare conductors (Correct Alternative) (Chosen Option)
HedeX (Correct Alternative) (Chosen Option)

Question No. 18 / Question ID 197 Marks: 2.00
Which load condition the phase currents of a 3 phase system are different?
3 TR0 JUTTel! &1 =R0T 4RI o dre fRufa & fird giit g7
(A) O Atbalanced resistive load

Tferd ufaRigs YR R
(B) O Atbalanced RLC load
Tfeld RLC HR WR
(C) O Atunbalanced load (Correct Alternative)
' @IS W (Correct Alternative)
(D) O At balanced inductive load (Chosen Option)
' HR UR (Chosen Option)

Question No. 19 / Question ID 397 Marks: 2.00
What is the function of magnetron tube in a microwave oven?
ARHIAT 3 H B oJd &1 1 B 57
(A) O Oscillate and produce the cooking frequency (Correct Alternative) (Chosen Option)
3R @I IS Bt arrq'f%r IAT B (Correct Alternative) (Chosen Option)
(B) O Changes the polarity every halfc cle _g
TR 3% T | ¢fadT Iea g w.globaliti.org

(C) O Converts the microwave energy to electrical energy
HIZHId Sl dI faggd Sl # ufkafdd &rar 8
(D) O Amplifies the microwave signal
P IgIaT §

Question No. 20 / Question ID 431 Marks: 2.00
Which material is used to make the core of power transformer?
UTeR TRABIR &1 HR g9 & forg forg Irsht o1 IuainT fasar oirar 872
(A) O Hot rolled steel
TH IS T
(B) O Cold rolled grain oriented steel (Correct Alternative) (Chosen Option)
$ST TS 3T 3H9 wa (Correct Alternative) (Chosen Option)
(C) O Softiron
A el
(D) O Copper alloy
GISIEEEIG!

Question No. 21 / Question ID 440 Marks: 2.00
Which is the indication of a moisture contained transformer oil is placed in the crackle test?

ShHd URIE0T H TH gad SIIHIHR dd &1 I AT Adbd (AT STl 872
A)O A hummlng noise is heard (Chosen Option)
T TG 1 3MTaTel TS &dll & (Chosen Option)




(B) O Asizzle noise is heard
Te I SfTaTel TS ot §

(C) O Acrackle sound is heard (Correct Alternative)
Udh FHY i 13=n€ <t % (Correct Alternative)

(D) O Aflash over occurs

T FI 3aR gfed gial @

Question No. 22 / Question ID 252 Marks: 2.00
What is the maximum PVC conduit size to make safe cold bending?
PRI &1 /g & forg diaiedt el &1 ifmaH PR T 82
(A) O 50 mm
50 mm
(B) O 19 mm
19 mm
(C)O 12mm
12 mm

(D) O 25 mm (Correct Alternative) (Chosen Option)
25 mm (Correct Alternative) (Chosen Option)

Question No. 23 / Question ID 14 Marks: 2.00
What is the name of the hammer as shown in the figure?

ferr o f3@T 7Y BT &1 1 &1 67

LT

(A) O Cross pein hammer
oY UF 3R

(B) O Claw hammer (Correct Alternative) (Chosen Option)
Tﬁﬁ%‘ﬂ?’ (Correct Alternative) (Chosen Option)

(C) O Ball pein hammer
1A OH g

(D) O Straight pein hammer
we Ui 8

Question No. 24 / Question ID 199 Marks: 2.00
How much time is required for a 50 Hz AC supply to complete one cycle?
50 Hz AC TS & Uh dh QRT R | fobhaTT THY AT 872
(A) O 0.45 second
0.45 second
(B) O 0.15 second
0.15 second
(C) O 0.02 second (Correct Alternative)
0.02 second (Correct Alternative)

(D) O 0.1 second (Chosen Option)
0.1 second (Chosen Option)

Question No. 25 / Question ID 289 Marks: 2.00
What is the purpose of the circuit diagram in wiring installation?

IR ST & URUY 3IRT BT I AT 872




(A) O To estimate the cost of various accessories
fafie TerId IUBRUN B AN BT STHH T & oy

(B) O To show the physical position of accessories (Chosen Option)
Il Y Hifae fufa e & fa (Chosen Option)

(C) O To show the schematic connection of the circuit for a specific task (Correct Alternative)
it fafRry cauky ﬁl'l'{ e &1 Tﬁm PR ﬁ@'ﬁ & ﬁl‘({ (Correct Alternative)

(D) O To estimate the various accessories in the circuit

idhe # fafid IrTelt &1 3gHH @ & fog

Question No. 26 / Question ID 168 Marks: 2.00
What is the standard frequency of AC supply in India?
HRd H AC 3MMYfd ! A Mgy Fam 82
(A) O 50 Hz (Correct Alternative) (Chosen Option)
50 Hz (Correct Alternative) (Chosen Option)
(B) O 25Hz
25 Hz
(C)O 75Hz
75 Hz

(D) O 60Hz
60 Hz

Question No. 27 / Question ID 333 Marks: 2.00

Which device provides the ignition voltage and act as choke in a HPSV lamp?
P I fSarzd UM diees U &Rl & 3R HPSV U # Tid & &0 H B Sl 87
(A) O Leak transformer (Correct Alternative) .

frema graweR (correct AltwrwrwL globaliti.org
(B) O High pressure aluminium oxide (Chosen Option)

3o qdld Q?\’{Lﬂﬁﬂﬂ NS S (Chosen Option)
(C) O Sodium vapour

CIR

(D) O Arc tube

3Tch g

Question No. 28 / Question ID 126 Marks: 2.00
Which method of magnetization is used to make commercial purpose permanent magnets?
A I & ot R e 1 & oY Fraa 1Rl &1 foeg fafd &1 I fean sirar g2
(A) O Induction method (Correct Alternative) (Chosen Option)

fafyr (Correct Alternative) (Chosen Option)
(B) O Divided touch method
fquTfora wo=f fafd
(C) O Double touch method
i fafy
(D) O Single touch method
THd Wi fafy

Question No. 29 / Question ID 202 Marks: 2.00
How the capacity of the batteries are specified?

deRal @t & v Fyfid 1 o 87

(A) O Ampere hour (Correct Alternative)
Ampere hour (Correct Alternative)




(B) O Volt Ampere (Chosen Option)
Volt Ampere (Chosen Option)
(C) O Volt
Volt
(D) O Watt
Watt

Question No. 30 / Question ID 112 Marks: 2.00
Which method is used for measuring 1 Ohm to 1 megohm range resistance?
1 39§ 1 TR XS URRIY &1 110 & forg fope fafdy &1 IoinT fopan i g2
(A) O Kelvin bridge method
foret fafe
(B) O Wheat stone bridge method (Correct Alternative) (Chosen Option)
%’E@:{ forer fafr (Correct Alternative) (Chosen Option)
(C) © Substitution method

(D) O Voltmeter and ammeter method

dlectier 3R THIeR fafdr

Question No. 31/ Question ID 248 Marks: 2.00
What is the name of the relay as shown in the figure?

for o g=ifE 7T Ra &1 19 F1 82

—~E T STy globaiffilprge—sJ 11—

(A) O Mercury wetted contact relay
IRDR] deg Picde Ra
(B) O Dry reed relay (Correct Alternative) (Chosen Option)
§T§ frs fra (Correct Alternative) (Chosen Option)
(C) O Ferreed relay
hfs Ral
(D) O Impulse relay
e el

Question No. 32 / Question ID 49 Marks: 2.00
What is the formula for the Quantity of electricity (Q)?
faggd &1 O (Q) 1 T T 87
(A) O Voltage x Current
Voltage x Current
(B) O Current x Time (Correct Alternative) (Chosen Option)
Current x Time (Correct Alternative) (Chosen Option)
(C) O Voltage x Resistance
Voltage x Resistance

(D) O Current x Resistance
Current x Resistance

Question No. 33 / Question ID 288 Marks: 2.00




Which classification of accessory the ceiling rose is classified?

e st o Iht & forg arffesvor § aeffgra fasa war 872

(A) O General accessories (Correct Alternative) (Chosen Option)
A= AREh (Correct Alternative) (Chosen Option)

(B) O Safety accessories

TR Ut

(C) O Holding accessories

(D) O Outlet accessories

Question No. 34 / Question ID 33 Marks: 2.00
What is the unit of insulation resistance?
AR URRIY BT HTS T 82
(A) O Kilo ohm
Kilo ohm
(B) © Ohm (Chosen Option)
Ohm (Chosen Option)

(C) O Mega ohm (Correct Alternative)
Mega ohm (Correct Alternative)

(D) O Milli ohm
Milli ohm
Question No. 35/ Question ID 94 Marks: 2.00

Which factor changes the permeability of a material?
B I BRD bl Taref b1 TR T ?g?lObahtl org
(A) O Flux density (Correct Alternative) (Chosen Option)
T Y1cd (Correct Alternative) (Chosen Option)
(B) O Diameter
2183}
(C) O Length

(D) O Cross sectional area

HIg YR aTHd

Question No. 36 / Question ID 418 Marks: 2.00

Which type of emf is induced in an auto transformer?
3Tl TIBIR H f6d THR BT emf URA graT 82
(A) O Selfinduced emf (Correct Alternative)

WY URd emf (Correct Alternative)
(B) O Dynamically induced emf (Chosen Option)

U 9 URd emf (Chosen Option)

(C) O Eddy current emf

E@ﬁ YRT emf

(D) O Mutually induced emf
3010 ORA emf

Question No. 37 / Question ID 348 Marks: 2.00
Which method is used to reduce the value of earth resistance?

Y-UfoRIY &7 A HH 634 & fore fog fafd o1 vt fasa e 872




(A) O By pouring water in the earth pit at repeated intervals (Correct Alternative) (Chosen Option)

ﬁl@ & TI% T IHY-JHY UR U ST 3 (Correct Alternative) (Chosen Option)
(B) O By connecting a number of earth electrodes in series

B 31 SAICIS! Bl YA H SHedx
(C) O By decreasing the depth of earth electrodes

31 ZATES DI TERIS DI HH PR
(D) O By reducing the size of earth electrode

31 ZATTIE BT MBHR P HH HIh

Question No. 38 / Question ID 20 Marks: 2.00
Which Personal Protective Equipment (PPE) is used for the protection from fumes?
YU T JRET & o for SafaaiTd QRET IUHRUN (PPE) HT ITTNT fasaT STl g7
(A) O Apron

-
(B) O Goggles
IRAT
(C) O Respirator (Correct Alternative)
YA (Correct Alternative)
(D) O Ear muff (Chosen Option)
b b wdr (Chosen Option)

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 456 Marks: 2.00
What is the side of a square whose area is 625mm?2?

T ot @1 e 2 g, o e R o baliti.org

(A) O 20 mm
20 mm
(B) O 25 mm (Correct Alternative) (Chosen Option)
25 mm (Correct Alternative) (Chosen Option)
(©)O 30 mm
30 mm

D) O 15mm
15 mm

Question No. 2 / Question ID 457 Marks: 2.00
What is the perimeter of a rectangle whose length and breadth are 20 cm and 18 cm?
U 3 BT URHTT T BRTT, FoTp! s Td asTs 20 ¥.#). 9 18 ). g2
(A) O 76 cm (Correct Alternative) (Chosen Option)
76 cm (Correct Alternative) (Chosen Option)
(B) O 56cm
56 cm
(C)O 86cm
86 cm

(D) O 66.cm
66 cm

Question No. 3 / Question ID 460 Marks: 2.00
Which is example for third order lever?

g 3SR TR &1 DIH-TT1 IaTeR0T 82




(A) O Apair of scissors (Chosen Option)
o &1 Uh TR (Chosen Option)
(B) © Common balance
BT oo
(C) O Forceps (Correct Alternative)
T (Correct Alternative)
(D) O Lime squeezer

AR WHIOR

Question No. 4 / Question ID 449

What is the square of 0.017?

0.01 &I I T 52

(A) O 0.000001
0.000001

(B) © 0.00001
0.00001

(C) O 0.0001 (Correct Alternative) (Chosen Option)
0.0001 (Correct Alternative) (Chosen Option)

(D) O 0.001
0.001

Marks: 2.00

Question No. 5/ Question ID 455

What is the boiling point of water?

U 1 FaUHIS H gIal 82

(A) O 32°C ‘e
3290 www.globaliti.org

(B) O 212°C
212°C

(C) O o°C
0°C

(D) O 100°C (Correct Alternative) (Chosen Option)
100°C (Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 6 / Question ID 453
What is the S.I unit of heat?
T P T, 3MTS. ShTs T 87
(A) O British thermal unit
British thermal unit
(B) O Centigrade heat unit
Centigrade heat unit

(C) O Joule (Correct Alternative) (Chosen Option)
Joule (Correct Alternative) (Chosen Option)
(D) O Calorie
Calorie

Marks: 2.00

3) ENGINEERING DRAWING

Question No. 1 / Question ID 479
Which dimension cr;orrectlz marked in the circle as per standard?
A& & TR Fhd H I 91 W el &1 ¥ fafgd 82

Marks: 2.00




w.globaliti.org

(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)




Question No. 2 / Question ID 471
What is the trimmed size of A4 sheet?

A4 e &1 feH T gafm SR ol g7
(A) O 594 x 841
594 x 841 .
(B) O 148x210 www.globaliti.org
148 x 210

(C) O 210 x 297 (Correct Alternative) (Chosen Option)
210 x 297 (Correct Alternative) (Chosen Option)

(D) O 841 x 1189
841 x 1189

Marks: 2.00

Question No. 3 / Question ID 483
Which arrow head is correct as per standard?

AP & 3TIR B9 91 dR < gl 872
(A) O

Marks: 2.00




(C)O
(Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
: -

Question No. 4 / Question ID 478 Marks: 2.00
|dentify the name of tool?

USR] BT ATH UgdH?

A) O Adjustable spanner

B) O Rlng spanner
T g
(C) © Open end spanner (Correct Alternative) (Chosen Option)
US WR (Correct Alternative) (Chosen Option)
(D) © Combination spanner

Question No. 5/ Question ID 481 Marks: 2.00
Which single stroke inclined letter 'A' is correct as per IS standard?
IS & & STIR B AT RiTTd Wi afcmd dex 'A' g1 872




www.globaliti.org




(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

www.globaliti.org

Question No. 6 / Question ID 475 Marks: 2.00
|dentify the name of tool?
QUHRUT BT 11 UgdM?




(A) O Straight pein hammer
e i gateT

(B) O Ball pein hammer (Correct Alternative) (Chosen Option)
CIGR iG] %TI'\’ (Correct Alternative) (Chosen Option)

(C) O Sledge hammer
Wl g

(D) O Cross pein hammer “y:
T O 2R www.globaliti.org

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 683
The 4Ps of a good sales pitch are: promise, picture, pitch and
Uh 331 fawp! g & 4P % promise, picture, pitch 3R
(A) O Product
Product
(B) O Public
Public
(C) O Proof (Correct Alternative) (Chosen Option)
Proof (Correct Alternative) (Chosen Option)
(D) O Price
Price

Marks: 2.00

Question No. 2 / Question ID 486
To be in a job or work is
AN T HHARE ...
(A) O Knowledge
sﬂ:{
(B) O Aptitude

(C) O Skill (Chosen Option)
(Chosen Option)

Marks: 2.00




(D) O Employ (Correct Alternative)
(Correct Alternative)

Question No. 3 / Question ID 569 Marks: 2.00
Dedication to a particular work is called
ot fa=iw ored 3 forg wwdor 1 &gl T 3
(A) O commitment (Correct Alternative)
@ (Correct Alternative)
(B) O Intelligence

(C) O confidence (Chosen Option)
THFIY (Chosen Option)
(D) O integrity
SIRCER|

Question No. 4 / Question ID 658 Marks: 2.00
is the brain of the computer.
HICR BT AT 5|
(A) O Central Processing unit (CPU) (Correct Alternative) (Chosen Option)
TR ('\‘ﬂ'dﬁ[) (Correct Alternative) (Chosen Option)
(B) O Desktop
SWH

(C) O Keyboard
EdEIS]

® O 1‘%’1_2;“ www.globaliti.org

Question No. 5/ Question ID 539 Marks: 2.00

Which punctuation mark should be used in the following sentence?
Is there any site engineer here

FafaRad areg | fog fovm fag &1 v foean S A1fgu? Is there any site engineer here

(A) O ? (question mark) (Correct Alternative) (Chosen Option)
? (question mark) (Correct Alternative) (Chosen Option)
(B) O , (comma)
, (comma)
(C) O . (full stop)
. (full stop)

(D) O ! (exclamation)
I (exclamation)

Question No. 6 / Question ID 587 Marks: 2.00
Which one is a good communication?
D I TH ST HaR g7
(A) O Message is ambiguous
ST DT SRTY BT
(B) O Receiver doesn't listen to sender
Tl U & Tal AT
(C) O Sender attacks receiver
U DT REaR TR gHaAT AT




D) O Message is clear and direct (Correct Alternative) (Chosen Option)
BT 16 3R oy I-‘ﬁ‘lT (Correct Alternative) (Chosen Option)

Question No. 7 / Question ID 691 Marks: 2.00
Which of the following should be avoided during probing?
SIg % SR Fafafied & 9 ey 9= afgu?
(A) O Repeating
(B) O Summarizing
R
(C) O Listening carefully
& Y AT
(D) O Interrupting the customer (Correct Alternative) (Chosen Option)
YTEP B TIUT HIAT (Correct Alternative) (Chosen Option)
Question No. 8 / Question ID 537 Marks: 2.00
Word that is pronounced the same as another word but differs in meaning is called
a8 et Sl fohll GER eq & A BIaT 7, AfdeT o 7 iz g 3, oy HET oI 8
(A) O homophone (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(B) O diphthong
Y R
(C) O syllable
REAR]
(BYO' homograph www.globaliti.org
Question No. 9 / Question ID 493 Marks: 2.00
Identify the improper term
3fIfed Ug &l Ugang ... |
(A) O water pollution
SRR
(B) O sound pollution
& gyl
(C) O green pollution (Correct Alternative) (Chosen Option)
gha YgUUl (Correct Alternative) (Chosen Option)
(D) O air pollution
arg gy
Question No. 10 / Question ID 634 Marks: 2.00

The expansion of ROM is
"ROM" & fqR B -




(A) O Read Only Memory (Correct Alternative) (Chosen Option)
Read Only Memory (Correct Alternative) (Chosen Option)
(B) © Random Only Memory
Random Only Memory
(C) O Rewrite Octet Machine
Rewrite Octet Machine

(D) O Read Octet Machine
Read Octet Machine

Question No. 11 / Question ID 612 Marks: 2.00
PIN is
PING ....|
(A) O Personal Income Number
Personal Income Number
(B) O Personal Identification Number (Correct Alternative) (Chosen Option)
Personal Identification Number (Correct Alternative) (Chosen Option)
(C) O Professional Income Number
Professional Income Number

(D) O Professional Identification Number
Professional Identification Number

Question No. 12 / Question ID 697 Marks: 2.00
What is the meaning of an entry level job?
TSt o Sid &1 o1 Aaad 872
(A) O Itis a starting or junior level jOb (Correct Alternative) (Chosen Option)
g TP E{N\’rl'l?ﬁ a1 Fiﬁl’ﬂ? ®R $t ?d orrfcfAlternatlve) (Chosen Option)
(B) O Security guard WWWw. g all

e ugdl
(C) O Junior interior designer
R SRR fee R
(D) O It helps to enter the office
g HATad & Y% B H Hag Hdl o

Question No. 13 / Question ID 577 Marks: 2.00
Listening to Railway or Flight announcement, teacher’s lecture comes under
Yd T IS B OO b AT, 18 BT AR ....... P SAcid 7T 3
(A) O appreciative listening

URHTHD '
(B) O therapeutic listening
ety feraf-i
(C) O comprehensive listening (Correct Alternative)
W@%ﬁlﬂ ferafaT (Correct Alternative)
(D) O critical listening (Chosen Option)
ferafm (Chosen Option)

Question No. 14 / Question ID 668 Marks: 2.00
Entrepreneurship is also termed as

SAHAT DI ... W g1 ST 8
(A) O employer
BRI




(B) O employment seeker
EIE I
(C) O investor

(D) O self employment (Correct Alternative) (Chosen Option)
T TSR (Correct Alternative) (Chosen Option)

Question No. 15/ Question ID 640 Marks: 2.00
What is shortcut key for “Paste” command?
"IRe" HHTS & foIE Qiéame i (o) 71 82
(A) O Ctrl +V (Correct Alternative) (Chosen Option)
Ctrl + V (Correct Alternative) (Chosen Option)
(B) O Ctrl+C
Ctrl+ C
(C)O Ctrl+A
Ctrl + A
(D) O Ctrl+X
Ctrl + X
Question No. 16 / Question ID 498 Marks: 2.00
To grow yourself you must
3 319 DI fAHRIT B & forw gt =1y ... |
(A) O know your institute
3T TR B S
(B) O know your country
SO G B Al www.globaliti.org
(C) O know your office
3T AT BI o
(D) O know yourself (Correct Alternative) (Chosen Option)
Yaq Pl oH (Correct Alternative) (Chosen Option)
Question No. 17 / Question ID 662 Marks: 2.00
A wireless technology that connects a laptop to the internet is called .
U IR b1 Sl AUeIy &l §ee J Ssdl & FHgdr gl
(A) O Desktop
SWhely
(B) O WiFi (Correct Alternative) (Chosen Option)
aT's: - TFI% (Correct Alternative) (Chosen Option)
(C) O Bluetooth
Y
(D) O Source Network
HId Acadh
Question No. 18 / Question ID 526 Marks: 2.00

Which is a silent letter in the word “ANSWER”?

“ANSWER” Tec & 1 9T 7o 31&R 872

(A) O W (Correct Alternative) (Chosen Option)
W (Correct Alternative) (Chosen Option)

(B)O R
R




(GO E
E

D)o S
S

Question No. 19 / Question ID 554 Marks: 2.00
Which of these is a sign of good stress?
3wy I BT Hdhd S8 U DI AT 52
(A) O Makes you physically ill or causes pain.
EU ¥ dHR 11 & A1 &6 BT HRUT ST 5|

(B) O It makes you doubt yourself. (Chosen Option)

g 39! Y& R & &l g1 (Chosen Option)
(C) O It prevents you from pursuing your goals.

g SHTTDH] 3T AL BT UIST B 4 bl 5|

(D) O Does not lead to long-term tension, loss of sleep. (Correct Alternative)

W IHY dF d-1d, Hig &t o ﬂﬁ ﬁ?ﬁ %I (Correct Alternative)

Question No. 20 / Question ID 524 Marks: 2.00
The word that expresses a sudden and strong feeling is called .
I8 TMe5 ol 3AMH 3R A HTGHT ad Bl § 34 g1 o1l §
(A) O conjunction
G & U
(B) O punctuation
form g

(C) O apostrophe

c www.globaliti.org
(D) O interjection (Correct Alternative) (Chosen Option)
Y (Correct Alternative) (Chosen Option)

Question No. 21 / Question ID 606 Marks: 2.00
Someone is treated differently on their skin colour, income
foralt 1 e & W, 3T DY AHR QT A6 § IER [T ST §..... |
(A) O unity
Qohdl
(B) O discrimination (Correct Alternative) (Chosen Option)
fave (Correct Alternative) (Chosen Option)
(C) O nature

(D) O correct

Question No. 22 / Question ID 643 Marks: 2.00
What is the expansion of “FYI” SMS?
"FYI" THUHTY &l IEESIEEC] %?
(A) O For Your Identification
For Your Identification
(B) O For Your Internet
For Your Internet

(C) O For Your Innocence
For Your Innocence




(D) O For Your Information (Correct Alternative) (Chosen Option)
For Your Information (Correct Alternative) (Chosen Option)

Question No. 23 / Question ID 624 Marks: 2.00
In an email, where will you add the recipient email address whom you want to send the copy of an email?
TS SHA |, 3 Mhd] B 3-Ad Ugd (SHA &1 UdT) Hel Siieh, o 3 S8 B H1dt WolHT Igd 82
(A) O Subject
Subject
(B) O Bcc
Bcce
(C) O CC (Correct Alternative) (Chosen Option)
CC (Correct Alternative) (Chosen Option)

(D) O To
To

Question No. 24 / Question ID 591 Marks: 2.00
Which one is NOT a part of Triple 'A’ listening?
oI feua ‘A foraf &1 few 78t 82
(A) O Anxiety (Correct Alternative) (Chosen Option)
Anxiety (Correct Alternative) (Chosen Option)
(B) O Adjustment
Adjustment
(C) O Attitude
Attitude

(D) O Attention
Attention

lobalif

Question No. 25 / Question ID 523 Marks: 2.00
Rise and fall of pitch of voice is called .
3fTaTSt 1 e &1 o1 SR iR HEA §
(A) O pronunciation

SR
(B) O consonant (Chosen Option)

S (Chosen Option)
(C) O intonation (Correct Alternative)

STATSl dT 3dR-deld (Correct Alternative)
(D) O vowel

RS




